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GCSE  Examination-style questions






Current electricity

1
A plastic rod is rubbed with a dry cloth.


a
Explain how the rod becomes negatively charged. 



(3)


b
What charge is left on the cloth?



(1)


c
What happens if the negatively charged rod is brought close to another negatively charged rod?



(1)

2
a
Complete the table of circuit symbols and their names.
(5)
	Circuit symbol
	Name
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	i

	ii
	ammeter
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	iii

	iv
	LDR
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	v



b
Copy and complete the following sentences using the list of words and phrases below. Each word can be used once, more than once or not at all.



energy transferred    charge    resistance    voltage



Electric current is a flow of ……………………


The potential difference between two points in a circuit is the …………………… per unit of …………………… that passes between the points.


The greater the …………………… the lower the current for a given potential difference.
(4)
3
Complete the following calculations. Write down the equation you use. Show clearly how you work out your answer and give the unit.
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a
i
What is the potential difference between A and B?



(1)


ii
The potential difference across the 15 Ω resistor is 5 V.




What is the potential difference across the 12 Ω resistor?



(1)


b
i
Calculate the combined resistance of the 12 Ω and the 15 Ω resistors in series.




(1)


ii
Calculate the current that flows through the circuit at X.



(2)


iii
Calculate the current flowing through the circuit at Y.



(1)


c
Calculate the resistance of the resistor labelled R.



(2)


d
Calculate the charge that flows through resistor R in 2 minutes.


(3)


e
Calculate the work done (energy transferred) by the cell if the total charge that has flowed through it is 3000 C.



(2)

4
a
Sketch and label a graph of current against potential difference for a diode.



(3)


b
The graph of current against potential difference for a filament bulb is shown.
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i
Calculate the potential difference when the resistance of the filament bulb is 2 Ω when the current is 1.6 A. Write down the equation you use. Show clearly how you work out your answer and give the unit.


(2)


ii
Calculate the resistance at a potential difference of 12 V. Write down the equation you use. Show clearly how you work out your answer and give the unit.


(3)


c
In this question you will be assessed on using good English, organising information clearly and using specialist terms where appropriate.


Explain the change in resistance of the filament bulb in terms of ions and electrons.



[H] (6)
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